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AFCAT 2 2022 — Numerical Ability Part 3

Q)A student has to score 30% marks to get through. If he gets 30 marks and fails by 30
marks, then find the maximum marks set for the examination.
a) 100
b) 500
c) 200
d) 300



AFCAT 2 2022 — Numerical Ability Part 3

Q)A student has to score 30% marks to get through. If he gets 30 marks and fails by 30
marks, then find the maximum marks set for the examination.
a) 100
b) 500
c) 200
d) 300

Ans: (c)



AFCAT 2 2022 — Numerical Ability Part 3

Q) A trader who marks his goods up to 50% offered
a discount of 20%. What % profit the trader
makes after offering the payment?

(a) 30% (b) 70%
(c) 20% (d) 50%



AFCAT 2 2022 — Numerical Ability Part 3

Q) A trader who marks his goods up to 50% offered
a discount of 20%. What % profit the trader
makes after offering the payment?

(a) 30% (b) 70%
(c) 20% (d) 50%

Ans: (c)



AFCAT 2 2022 — Numerical Ability Part 3

Q) Two classes X and Y have students
32 and 30. Average of X 1s45 and Y
1s 50. Find average of both the
class.

(a) 54.32 (b) 47.42
(c) 61.23 (d) 40.25
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Q) Two classes X and Y have students

32 and 30. Average of X 1s45 and Y
1s 50. Find average of both the
class.

(a) 54.32 (b) 47.42
(c) 61.23 (d) 40.25

Ans: (b)



AFCAT 2 2022 — Numerical Ability Part 3

Q)Krishna purchased a number of articles at 10 for each and
the same number for X 14 each. He mixed them together and
sold them for <13 each. Then his gain or loss percent is

1 2
(@) Loss 85% (b) Gain 85%

2 1
(¢) Loss 85% (d) Gain 85%
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Q)Krishna purchased a number of articles at 10 for each and
the same number for X 14 each. He mixed them together and
sold them for <13 each. Then his gain or loss percent is

1 2
(@) Loss 85% (b) Gain 85%

2 1
(¢) Loss 85% (d) Gain 85%

Ans: (d)



AFCAT 2 2022 — Numerical Ability Part 3

Q) Walking at % th of his usual speed, a man 1s 12 minutes late

for his office. What 1s the usual time taken by him to cover
that distance?

(a) 48 minutes (6) 50 minutes

(¢) 54 minutes (d) 60 minutes
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Q) Walking at % th of his usual speed, a man 1s 12 minutes late

for his office. What 1s the usual time taken by him to cover
that distance?

(a) 48 minutes (6) 50 minutes
(¢) 54 minutes (d) 60 minutes

Ans: (a)



AFCAT 2 2022 — Numerical Ability Part 3

Q) x*+4is equal to:
(@) *x*+2)(x-2)
b) x*+2x+2)(x*—2x+2)
) X-DE+DHE+2)E-2)
(d x*+2)



AFCAT 2 2022 — Numerical Ability Part 3

Q) x*+4is equal to:
(a) (x*+2)(x*-2)
) x*+2x+2)(x>—2x+2)
) x—-DE+)E+2)x-2)
d) *+2)

Ans: (b)



AFCAT 2 2022 — Numerical Ability Part 3

Q) Ratio of volumes of 3 containers is
3:4 5. All the three containers are
full of a mixture of milk and water.
Ratio of milk and wateris 4 : 1,
3:1and 3 : 2 in the three
containers respectively. If the liquid
of all the three containers i1s poured
in the 4th container, then find the
ratio of milk and water.

(a) 1:2 (b) 2:3
(c)7:3 (d) 5 : 4
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Q) Ratio of volumes of 3 containers is
3:4 5. All the three containers are
full of a mixture of milk and water.
Ratio of milk and wateris 4 : 1,
3:1and 3 : 2 in the three
containers respectively. If the liquid
of all the three containers 1s poured
in the 4th container, then find the
ratio of milk and water.

(a) 1:2 (b) 2:3
(c)7:3 (d) 5 : 4

Ans: (c)



AFCAT 2 2022 — Numerical Ability Part 3

Q) A seller says he sells goods at 10% loss , but he actually
uses the wrong measuring scale and gains 15%.what 1s the
length of a meter scale?

(@) 0.7628 (b) 0.6728
(c) 0.8762 (d) 0.7826



AFCAT 2 2022 — Numerical Ability Part 3

Q) A seller says he sells goods at 10% loss , but he actually
uses the wrong measuring scale and gains 15%.what 1s the
length of a meter scale?

(@) 0.7628 (b) 0.6728
(c) 0.8762 (d) 0.7826

Ans: (d)



AFCAT 2 2022 — Numerical Ability Part 3

Q) The area of a rhombus is 336 sq cm.
If the length of one of its diagonals is
48 cm, then what is the perimeter of
the rhombus?

(@) 200 cm (b) 120 cm
(c) 100 cm (d) 90 cm
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Q) The area of a rhombus is 336 sq cm.
If the length of one of its diagonals is
48 cm, then what is the perimeter of
the rhombus?

(@) 200 cm (b) 120 cm
(c) 100 cm (d) 90 cm

Ans: (c)



AFCAT 2 2022 — Numerical Ability Part 3

Q)In an exam, a candidate attempts 20 questions and scores
72 marks. If 5 marks are awarded for each correct answer
and 2 marks are deducted for each wrong answer, then
how many questions were answered correctly by him?
(a) 18 (b) 17
(c) 16 (d) 15
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Q)In an exam, a candidate attempts 20 questions and scores
72 marks. It 5 marks are awarded for each correct answer
and 2 marks are deducted for each wrong answer, then
how many questions were answered correctly by him?
(a) 18 (b) 17
(c) 16 (d) 15

Ans: (c)



AFCAT 2 2022 — Numerical Ability Part 3

Q)A person rode one third of a journey
at 60 km/hr, one third at 50 km/hr
and the rest at 40 km/hr. Had the
person ridden half of the journey at
60 km/hr and the rest at 40 km/hr, he
would have taken 4 minutes longer
to complete the journey. What
distance did the person ride?

(a) 180 km (b) 210 km
(c) 240 km (d) 300 km
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Q)A person rode one third of a journey

at 60 km/hr, one third at 50 km/hr
and the rest at 40 km/hr. Had the
person ridden half of the journey at
60 km/hr and the rest at 40 km/hr, he
would have taken 4 minutes longer
to complete the journey. What
distance did the person ride?

(a) 180 km (b) 210 km
(c) 240 km (d) 300 km

Ans: (c)



AFCAT 2 2022 — Numerical Ability Part 3

Q) A sum triples in ten years under compound interest at a
certain rate of interest, the interest is being compounded
annually. In how many years, it would become nine times?
(@) 20 years (b) 30 years
(¢) 40 years (d) 50 years
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Q) A sum triples in ten years under compound interest at a
certain rate of interest, the interest is being compounded
annually. In how many years, it would become nine times?
(a) 20 years (b) 30 years
(¢) 40 years (d) 50 years

Ans: (a)
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AFCAT 2 2022 — Numerical Ability Part 3

Q) A shopkeeper earns a profit of 20% on selling a book at 16% discount on the printed
price. The ratio of the cost price and the printed price is

(a) 5:6 (b) 5:7 (c)7:10 (d) 6:11
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Q) A shopkeeper earns a profit of 20% on selling a book at 16% discount on the printed
price. The ratio of the cost price and the printed price is

(a) 5:6 (b) 5:7 (c)7:10 (d) 6:11

Ans: (c)
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Q)§+éx?—§+1§+§x3l:2z
6 7 9 5§ 4 3 9

7 6
(@) P’ (b) =

(c) 1 (d) None of these
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Q)é—:-éx?—§—:-1§+§x3l=2z
6 7 9 5§ 4 3 9

7 6
@ - ®) -
(c) 1 (d) None of these

Ans: (b)



AFCAT 2 2022 — Numerical Ability Part 3

Q) The average age of the boys in a class is 12 years. The
average age of the girls i the class 1s 11 years. There are
50% more girls than boys in the class. Which one of the
following 1s the average age of the class (in years)?

(a) 11.2 years (b) 11.4 years
(¢) 11.6 years (d) 11.8 years

0:20



AFCAT 2 2022 — Numerical Ability Part 3

Q) The average age of the boys in a class is 12 years. The
average age of the girls m the class 1s 11 years. There are
50% more girls than boys in the class. Which one of the
tollowing 1s the average age of the class (in years)?

(a) 11.2 years (b) 11.4 years
(c) 11.6 years (d) 11.8 years

Ans: (b)



AFCAT 2 2022 — Numerical Ability Part 3

Q)If the area of a rectangle whose length is 5 units more than twice its width is 75
sg. units, then what is the width?
(a) 3 units (b) 5 units
(c) 7 units (d) 10 units
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Q)If the area of a rectangle whose length is 5 units more than twice its width is 75
sg. units, then what is the width?
(a) 3 units (b) 5 units
(c) 7 units (d) 10 units

Ans: (b)



AFCAT 2 2022 — Numerical Ability Part 3

Q)%, ¥ and z are three numbers such that x is
30% of z and v is 40% of z. If x is p% of v, then
what is the value of p ?

(a) 45
(k) 55
(e) BH

dy 75
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Q)%, ¥ and z are three numbers such that x is
30% of z and v is 40% of z. If x is p% of v, then
what is the value of p ?

la) 45
(b) 55
(c) 65
(dy 75

Ans: (d)



AFCAT 2 2022 — Numerical Ability Part 3

Q) Two years ago, the age of 4 was three times the age of B.
If B 1s currently 9 years old, then after how many years,
the age of 4 will be double of the age of 5?

(a) 2 years
(b) 3 years
(¢) 4 years
(d) 5 years
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Q) Two years ago, the age of 4 was three times the age of B.
If B 1s currently 9 years old, then after how many years,
the age of 4 will be double of the age of 5?

(a) 2 years
(b) 3 years
(¢) 4 years
(d) 5 years

Ans: (d)



AFCAT 2 2022 — Numerical Ability Part 3

Q) If 40% of a number is equal to two-third of another number, what is
the ratio of first number to the second number?
(a)2:5
(b)3:7
(c})5:3
(d)7:3



AFCAT 2 2022 — Numerical Ability Part 3

Q) If 40% of a number is equal to two-third of another number, what is
the ratio of first number to the second number?
(a)2:5
(b)3:7
(c})5:3
(d)7:3

Ans: (c)



AFCAT 2 2022 — Numerical Ability Part 3

Q)The average of 5/16 and 3/8 is__ ?
(@) 0.5425 (b) 0.2585
(c) 0.3475 (d) 04385
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Q)The average of 5/16 and 3/8 is__ ?
(@) 0.5425 (b) 0.2585
(c) 0.3475 (d) 04385

Ans: (c)



AFCAT 2 2022 — Numerical Ability Part 3

Q) A card is drawn at random from a pack of card.

What 1s the probability that the drawn card 1s
neither a heart nor aking

4 9
(a) 3 (b) 13
1 13
(©) 2 (d) by



AFCAT 2 2022 — Numerical Ability Part 3

Q) A card is drawn at random from a pack of card.
What 1s the probability that the drawn card 1s

neither a heart nor aking

4 9
(a) 3 (b) 13
1 NEE
(c) ) (d) 6

Ans: (b)



AFCAT 2 2022 — Numerical Ability Part 3

Q) In a library 5 per cent books are in
English; 10 per cent of the
remaining are in Hindi and
15 per cent of the remaining are in
Sanskrit. The remaining 11628
books are in French. Then, find the
total number of books in the
library.

(a) 15000 (b) 12000
(c) 16000 (d) 10000
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Q) In a library 5 per cent books are in
English; 10 per cent of the
remaining are in Hindi and
15 per cent of the remaining are in
Sanskrit. The remaining 11628
books are in French. Then, find the
total number of books in the
library.

(a) 15000 (b) 12000
(c) 16000 (d) 10000

Ans: (c)



AFCAT 2 2022 — Numerical Ability Part 3

Q) A train 200 m long passes a platform 100 m long in
10 seconds. What 1s the speed of the train?

(a) 40m/s (L) 30m/s (c) 25m/s  (d) 20 m/s
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Q) A train 200 m long passes a platform 100 m long in
10 seconds. What 1s the speed of the train?

(a) 40m/s (L) 30m/s (c) 25m/s  (d) 20 m/s

Ans: (b)



AFCAT 2 2022 — Numerical Ability Part 3

Q) 3 years back the average age of a family of 4 members was
24 years. A baby having been born, the average age of the
family is still same. What 1s the present age of the baby?
(@) 14 years (b) 16 years
(¢) 12years (d) 10years
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Q) 3 years back the average age of a family of 4 members was
24 years. A baby having been born, the average age of the
family 1s still same. What is the present age of the baby?
(@) 14 years (b) 16 years
(¢) 12years (d) 10years

Ans: (c)



AFCAT 2 2022 — Numerical Ability Part 3

Q)If the annual income of X is 20%
more than that of Y, then the income
of Y is less than that of X by p%.
What is the value of p?

(a) 10
(b) 16%

(c) 173
@ 20



AFCAT 2 2022 — Numerical Ability Part 3

Q)If the annual income of X is 20%
more than that of Y, then the income
of Y is less than that of X by p%.
What is the value of p?

(a) 10
(b) 16%

(c) 17%
@ 20

Ans: (b)



AFCAT 2 2022 — Numerical Ability Part 3

Q) A wire is in the form of a circle of radius
70 em. If it 1s bent in the form of
a rhombus, then what is its side length?

(Take n = g)
7

fa) 55 cm
(b) 75 cm
{c) 95 cm
(d 110 cm
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Q) A wire is in the form of a circle of radius
70 cm. If it is bent in the form of
a rhombus, then what is its side length?

(Take 7 = 22)
7

(@) 55 cm
(b) 75 cm
{c) 95 cm
(d)] 110 cm

Ans: (d)



AFCAT 2 2022 — Numerical Ability Part 3

Q) Akash leaves Mumbai at 6 am and
rcaches Bangalore at 10 am.
Prakash leaves Bangalore at 8 am
and recaches Mumbai at 11:30 am.
At what time do they cross cach
other?

(a) 8 : 56 am (b) 9 am
(c) 8:56 pm (d) 9 pm
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Q) Akash leaves Mumbai at 6 am and
rcaches Bangalore at 10 am.
Prakash leaves Bangalore at 8 am
and recaches Mumbai at 11:30 am.
At what time do they cross cach
other?

(a) 8 : 56 am (b) 9 am
(c) 8:56 pm (d) 9 pm

Ans: (a)



AFCAT 2 2022 — Numerical Ability Part 3

Q) Someone borrowed 7000 at some interest rate for 3 years
and after 3 years he again borrowed 3000 with same rate . If
he end up giving simple interest 0of 4615 after 8 years then
what was his interest rate?

(@) 6.5% (b) 7.2%
(c) 7.8% (d) None of these
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Q) Someone borrowed 7000 at some interest rate for 3 years
and after 3 years he again borrowed 3000 with same rate . If
he end up giving simple interest 0of 4615 after 8 years then
what was his interest rate?

(@) 6.5% (b) 7.2%
(¢c) 7.8% (d) None of these

Ans: (a)



AFCAT 2 2022 — Numerical Ability Part 3

Q) A farmer divides his herd of n cows among his four sons, so
that the first son gets one—half the herd, the second one—

1
fourth, the third son 3 and the fourth son 7 cows. Then the

value of n 1s

(@) 240 (b) 100  (c) 180 (d) 140
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Q) A farmer divides his herd of n cows among his four sons, so
that the first son gets one—half the herd, the second one—

1
fourth, the third son 3 and the fourth son 7 cows. Then the

value of n 18
(a) 240 (b) 100 (c) 180 (d) 140

Ans: (d)



AFCAT 2 2022 — Numerical Ability Part 3

Q)The monthly salaries of A and B together amount to < 40,000.
A spends 85% of his salary and B, 95% of his salary. If now

their savings are the same, then the salary (in ) of A is
(a) 10,000 (b) 12,000 (c) 16,000 (d) 18,000
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Q)The monthly salaries of A and B together amount to < 40,000.

A spends 85% of his salary and B, 95% of his salary. If now
their savings are the same, then the salary (in ) of A is
(a) 10,000 (b) 12,000 (c) 16,000 (d) 18,000

Ans: (a)



1-YEAR FULL ACCESS
SSB ONLINE COURSE 2022

START YOUR SSB INTERVIEW PREPARATION TODAY WITH SSBCRACKEXAMS
D A AAKAK 5(132 ratings) 17,552 students enrolled

Includes: e

‘& Conference
® OIR Test B Medical
® PPDT L1 Live Class

&) Psychological Tests % Success Stories
31 Personal Interview

¥ Personal Guidance
z_llz SSB Trends -5

X Group Tasks &2

f

=
e
4
ll

11

I

EXAMS



AFCAT 2 2022 — Numerical Ability Part 3

Q) The number of items in a booklet is N. In the
first yeér ;’t_here is an increase of 'x% in this
number and in the subsequent year there is a
decrease of x%. At the end of the two years,
what will be the number of items in the
booklet ? :

() LessthanN
(b) EqualtoN
(c) ~ More ﬁhan_N

(d) It depends on the value of N -
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Q) The number of items in a booklet is N. In the
first yeér ;’t_here is an increase of 'x% in this
number and in the subsequent year there is a
decrease of x%. At the end of the two years,
what will be the number of items in the
booklet ? :

() LessthanN
(b) EqualtoN
(c) ~ More ﬁhan_N

(d) It depends on the value of N -

Ans: (a)



AFCAT 2 2022 — Numerical Ability Part 3

Q) There is a point inside a circle. What is the probability that this point

is close to the circumference than to the centre?
a) 3/4
b) 1/2
c) 1/4
d) 1/3
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Q) There is a point inside a circle. What is the probability that this point
is close to the circumference than to the centre?
a) 3/4
b) 1/2
c) 1/4
d) 1/3

Ans: (a)



AFCAT 2 2022 — Numerical Ability Part 3

Q) Difference between two stations X and Y is 500 km one train
starting from X move toward Y with 20 km/h and another
train move toward X from Y with the speed 30km/h. What 1s
the distance of the point where both train cross each other
from point X.

(@) 400km (b) 200km
(¢) 300km (d) 100km

0:20



AFCAT 2 2022 — Numerical Ability Part 3

Q) Difference between two stations X and Y is 500 km one train
starting from X move toward Y with 20 km/h and another
train move toward X from Y with the speed 30km/h. What 1s
the distance of the point where both train cross each other
from point X.

(@) 400km (b) 200km
(¢) 300km (d) 100km

Ans: (c)
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the selling price of 80 mangoes. What is
the profit percentage?

(@) 16%
(b) 20%
{c) 24%

(d) 25%
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Q) The cost price of 100 mangoes is equal to
the selling price of 80 mangoes. What is
the profit percentage?

(a) 16%
(b) 20%
(c) 24%

(d) 25%

Ans: (d)
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Q)2 men and 1 woman can complete a piece of work in 14 days, while 4 women and
2 men can do the same work in 8 days. If 2 woman gets Rs 60 per day, what
should be the wages per day of a man?

(a) Rs 48
(b} Rs 90
(c) Rs 72
(d) Rs 135
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Q)2 men and 1 woman can complete a piece of work in 14 days, while 4 women and
2 men can do the same work in 8 days. If 2 woman gets Rs 60 per day, what
should be the wages per day of a man?

(a) Rs 48
(b} Rs 90
(c) Rs 72
(d) Rs 135

Ans: (b)
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Q) |If area of a circle and a square are same, then what is the
ratio of their perimeters?
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Q) |If area of a circle and a square are same, then what is the
ratio of their perimeters?

(@) 2Jn b) n

Jx Iz
(c) Y

Ans: (c)



AFCAT 2 2022 — Numerical Ability Part 3

Q)The cost of gold varies directly as the cube of its weight.
A gold piece weighing 20 decigram costs 1,000. If it 1s
broken into two pieces whose weights are in the ratio 2 : 3,
then what 1s the profit or loss incurred?

(a) 280 profit (b) X280 loss
(¢c) X720 profit (d) X720 loss
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Q)The cost of gold varies directly as the cube of its weight.
A gold piece weighing 20 decigram costs 1,000. If it 1s
broken into two pieces whose weights are in the ratio 2 : 3,
then what 1s the profit or loss incurred?

(a) 280 profit (b) X280 loss
(¢c) X720 profit (d) X720 loss

Ans: (d)



AFCAT 2 2022 — Numerical Ability Part 3

Q) A sum invested at SI will be twice
in 12 yr. Find the rate of interest.
(a) 10% (b) 8.33%

(¢c) 15% (d) 5%
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Q) A sum invested at SI will be twice
in 12 yr. Find the rate of interest.
(a) 10% (b) 8.33%

(c) 15% (d) 5%

Ans: (b)
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Q)If 20 persons can clean 20 floors in 20 days, then in how
many days can 16 persons clean 16 floors?
(a) 25days (b) 24 days (c) 20days (d) 16 days
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Q)If 20 persons can clean 20 floors in 20 days, then in how
many days can 16 persons clean 16 floors?
(a) 25days (b) 24 days (c) 20days (d) 16 days

Ans: (c)
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AFCAT 2 2022 — Numerical Ability Part 3

Q) A pair of a dice thrown, if 5 appears on at least one of the dice, then the
probability that the sum is 10 or greater, is
a) 11/36
b) 2/9
c) 3/11
d) 1/12
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Q) A pair of a dice thrown, if 5 appears on at least one of the dice, then the
probability that the sum is 10 or greater, is
a) 11/36
b) 2/9
c) 3/11
d) 1/12

Ans: (d)



AFCAT 2 2022 — Numerical Ability Part 3

Q) A train has 7 compartments and two compartments have
not same number of passengers. Average number of
passengers 1S 15. And no compartment has number of
passengers more than the average number of passenger.
except compartments 7th. Find the least number of
passengers in 7th compartment.

(@) 30 (b) 32
(c) 35 (d) None of these

0:20



AFCAT 2 2022 — Numerical Ability Part 3

Q) A train has 7 compartments and two compartments have
not same number of passengers. Average number of
passengers 1S 15. And no compartment has number of
passengers more than the average number of passenger.
except compartments 7th. Find the least number of
passengers in 7th compartment.

(@) 30 (b) 32
(c) 35 (d) None of these

Ans: (a)
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Q) A person bought a chair and a table
for X 750. He sold the chair at a gain
of 5% and the table at a gain of 20%.
he gained 16% on the whole. What is
original cost of table?

(@) T400 (b) T450 () %550 (d) T 600
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Q) A person bought a chair and a table
for X 750. He sold the chair at a gain
of 5% and the table at a gain of 20%.
he gained 16% on the whole. What is
original cost of table?

(@) T400 (b)T450 (c) 550 (d) T 600

Ans: (c)
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1

Q) If 2x — P =0, then the value of x? +
X

19 718

(a) 5 (b) 5 (c) 3

Ans: (a)

1

16x

2

1S
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Q)Let the work done by (x — 1) men 1n (x + 1) days be y.
Let the work done by (x + 2) men in (x — 1) days be z. If
y : z=9:10, then what 1s the value of x?

(a) 8 (b) 9 (¢) 10 (d) 12
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Q)Let the work done by (x — 1) men 1n (x + 1) days be y.
Let the work done by (x + 2) men in (x — 1) days be z. If
y : z=9:10, then what 1s the value of x?

(a) 8 (b) 9 (¢) 10 (d) 12

Ans: (a)



AFCAT 2 2022 — Numerical Ability Part 3

Q) A tram moving at a cover a rate of 90 kmph. Crosses a tunnel
1n 36 seconds. and other train which 1s 100 metres shorter
moving at a cover a rate of 45 kmph. How much time will 1t
take to go through the tunnel?

(@) 54 seconds (b) 64 seconds
(¢) 50 seconds (d) 58 seconds
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Q) A tram moving at a cover a rate of 90 kmph. Crosses a tunnel
1n 36 seconds. and other train which 1s 100 metres shorter
moving at a cover a rate of 45 kmph. How much time will 1t
take to go through the tunnel?

(@) 54 seconds (b) 64 seconds
(¢) 50 seconds (d) 58 seconds

Ans: (b)



AFCAT 2 2022 — Numerical Ability Part 3

Q)If the diagonals of a rhombus are 4.8 cm and 1.4 cm, then
what is the perimeter of the rhombus?

(a) 5cm (b) 10 cm
(c) 12 cm (d) 20 cm



AFCAT 2 2022 — Numerical Ability Part 3

Q)|If the diagonals of a rhombus are 4.8 cm and 1.4 cm, then
what is the perimeter of the rhombus?

(a) 5cm (b) 10 cm
(c) 12 cm (d) 20 cm

Ans: (b)
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Q) Highest common factor of42 and 162is .
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(c) 12 d) 2
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Q) Highest common factor of42 and 162is .
(@) © (b) 4
c) 12 (d) 2

Ans: (a)



AFCAT 2 2022 — Numerical Ability Part 3

Q)In a college election between two rivals, a candidate who got 40% of the total votes
polled, was defeated by his rival by 160 votes. The total number of votes polled was

a) 900

b) 800

c) 600

d) 700
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Q)In a college election between two rivals, a candidate who got 40% of the total votes
polled, was defeated by his rival by 160 votes. The total number of votes polled was

a) 900

b) 800

c) 600

d) 700

Ans: (b)



AFCAT 2 2022 — Numerical Ability Part 3

Q)There are in all, 10 balls; some of them are red and the others
white. The average cost of all balls is Rs. 28. If the average
cost of red balls i1s Rs. 25 and that of white balls 1s Rs. 30, the
number of white balls is:

(@) 3 (b) 5
(c) 6 (d) 7
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Q)There are in all, 10 balls; some of them are red and the others
white. The average cost of all balls 1s Rs. 28. If the average

cost of red balls i1s Rs. 25 and that of white balls 1s Rs. 30, the
number of white balls 1s:

(a) 3 (b) 5
) 6 (d) 7

Ans: (c)
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1 1

Q) Ifx+ — =3, thenx’ + — 1s equal to:
X X

(a) 27 (b) 36 (c) 24 (d) 18
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1

|
Q) Ifx+ — =3, thenx’ + — 1s equal to:
X z

(a) 27 (b) 36 (c) 24 (d) 18

Ans: (d)



AFCAT 2 2022 — Numerical Ability Part 3

Q) In a mixture of 80 litres of a liquid and
water, 25% of the mixture is the liquid.
How much water should be added to
the mixture so that the liquid becomes
20% of the mixture?

fa) 15 litres
(b) 20 litres
fc) 24 litres

(d) 25 litres
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Q) In a mixture of 80 litres of a liquid and
water, 25% of the mixture is the liquid.
How much water should be added to
the mixture so that the liguid becomes
20% of the mixture?

fa) 15 litres
(b) 20 litres
fc) 24 litres

(d) 25 litres

Ans: (b)



AFCAT 2 2022 — Numerical Ability Part 3

Q)20 men are supposed to complete
a work in 10 days after working
for 5 days they realise that only
one fourth of the work is done.
How many more men they need
to employ to finish the work on
time?

@40 (B30 ()20 (d)15
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Q)20 men are supposed to complete
a work in 10 days after working
for 5 days they realise that only
one fourth of the work is done.
How many more men they need
to employ to finish the work on
time?

@40 (B30 ()20 (d)15

Ans: (a)
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Q) If 1/5th tank 1s full and 1£22 litres fuel poured in it, then 3/4th
tank 1s full. Find the capacity of tank?
(a) 40 litres (b) 35 litres
(c) 50 litres (d) 45 litres
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Q) If 1/5th tank 1s full and 1£22 litres fuel poured in it, then 3/4th
tank 1s full. Find the capacity of tank?
(a) 40 litres (b) 35 litres
(c) 50 litres (d) 45 litres

Ans: (a)
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Q) If the perimeter of a semicircular park
is 360 m, then what is its area?

(Take = = %}

(@) 3850 m?
(b) 7700 m?
(c) 11550 m?

(d) 15400 m?
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Q) If the perimeter of a semicircular park
is 360 m, then what is its area?

(Take &t = %}
(@) 3850 m?
(b) 7700 m?
¢/ 11550 m?

(d) 15400 m?

Ans: (b)
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Q) A stock of food grains is enough for 240 men for 48 days. How long will the same
stock last for 160 men?

a) 72 days
b) 64 days
c} 60 days
d) 54 days
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Q) A stock of food grains is enough for 240 men for 48 days. How long will the same
stock last for 160 men?
a) 72 days
b) 64 days
c} 60 days
d) 54 days

Ans: (a)
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Q) In a 400 m race, Sohan runs at a speed of 16 m/s. If Sohan gives Mohan a start
of 16 m and still beats him by 40s, what will be the speed of Mohan?
a) 6m/s
b) 8 m/s
c) 15 m/s
d) 5.9 m/s



AFCAT 2 2022 — Numerical Ability Part 3

Q) In a 400 m race, Sohan runs at a speed of 16 m/s. If Sohan gives Mohan a start
of 16 m and still beats him by 40s, what will be the speed of Mohan?
a) 6m/s
b) 8 m/s
c) 15 m/s
d) 5.9 m/s

Ans: (d)



AFCAT 2 2022 — Numerical Ability Part 3

Q) A person distributes his pens among four friends A, B, C
and Dintheratiol/3:1/4:1/5:1/6. What is the minimum
number of pens that the person should have ?

(@) 57 (b) 48
(c) 62 (d) 38
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Q) A person distributes his pens among four friends A, B, C
and Dintheratiol/3:1/4:1/5: 1/6. What 1s the minimum
number of pens that the person should have ?

(@) 57 (b) 48
(c) 62 (d) 38

Ans: (a)
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Sx 1 1
Q)If — = — . then the value of (JCJF — ]is
2xX“ +5x+41 2 2x
(a) 15 (b) 10
(c) 20 (d) 5

Ans: (d)
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Q) A shopkeeper sold two articles at ¥ 12000 each. One sold at

a loss of 25% and another one at a gain 20%. What 1s net
total loss and gain?

@) 4% ®) 8.5%
©) 6.5% d) 7.6%
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Q) A shopkeeper sold two articles at I 12000 each. One sold at

a loss of 25% and another one at a gain 20%. What 1s net
total loss and gain?

@) 4% ®) 8.5%
©) 6.5% d) 7.6%

Ans: (d)
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Q) Calculate compound interest on a
sum of I 64000 compounded
quarterly for 1 year at a rate of
10%?

(a) T7425.221  (b) T 6644.025
(c) ¥5602.028  (d) T 6244.155
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Q) Calculate compound interest on a
sum of I 64000 compounded
quarterly for 1 year at a rate of
10%?

(a) 7425221  (b) T 6644.025
(c) 5602.028  (d) T 6244.155

Ans: (a)



1-YEAR FULL ACCESS
SSB ONLINE COURSE 2022

START YOUR SSB INTERVIEW PREPARATION TODAY WITH SSBCRACKEXAMS
D A AAKAK 5(132 ratings) 17,552 students enrolled

Includes: e

‘& Conference
® OIR Test B Medical
® PPDT L1 Live Class

&) Psychological Tests % Success Stories
31 Personal Interview

¥ Personal Guidance
z_llz SSB Trends -5

X Group Tasks &2

f

=
e
4
ll

11

I

EXAMS



.....

AFCAT Exam Online Course 2022 - 2023

Start your AFCAT Exam preparation today with SSBCrackExams.

50 (n4)

Content =

m

Search in bundle Q FILTER

AFCAT 2 2022 Exam Overview

Course * 27 Lessons

Success Stories

Course * 39 Lessons

AFCAT 2 2022 Study Plan And Analysis

Course * 24 Lessons

Notifications & Exam Dates

NO”FIPATIUN = Course * 182 Lessons
EXAM DATE = ‘

—— -~

- O

-~
g .
> MR

EXAMS

® 90 Days validity Change Validity,

3,999 #4995 (2o%or

n
0
m
m
{
'ul
X

BUY BUNDLE ’ START A FR

What's included

@ 24 Courses



Bundles 1

SSB INTERVIEW

ONLINE COURSE

hata W

USE CODE: “WARRIOR10"

SSB Interview Online Course

17 Courses

33,999 #4995 2

Test Series o

558C0nck

NDA EXAM -

MOCK TEST

SERIES

40 Tests

499 3999 5

®

USE CODE: “WARRIOR10"

NDA Exam Online Course 2022

23 Courses

3,999 249992

+SSBCrack

CDS EXAM

MOCK TEST
SERIES

CDS Exam 2022 Mock Test Series

30 Tests

499 7999 50% OFF

View All

;o l_ g

USE CODE: “WARRIOR10"

CDS Exam Online Course 2022 AFCAT Exam Online Course 2022
39 Courses 23 Courses
3,999 24,999 20% OFF 33,999 %4999 20

SSBCrack

AFCAT EXAM

SSBCrack

CDS EXAM OTA¢

MOCK TEST MOCK TEST
SERIES SERIES
AFCAT 2022 Mock Test Series CDS Exam OTA 2022 Mock Test
Series
20 Tests 20 Tests
499 999 50% OFF T499 %999 50% OFF




AFCAT 2 2022

174 >) CLASS |
TIME TABLE

DATE TIME SUBJECT

17 AUG 2022 10 AMTO 1 PM General Awarness Part 1
17 AUG 2022 2PMTO5PM English Part 1

17 AUG 2022 6PMTO9PM Static GK Part 1

18 AUG 2022 10AMTO 1 PM General Awarness Part 2
18 AUG 2022 2PMTO5PM English Part 2

18 AUG 2022 6PMTO9PM Static GK Part 2

19 AUG 2022 10 AMto 1 PM Current Affairs

19AUG 2022 2PMTO5PM English Part 3

19 AUG 2022 6 PMTO 9 PM Defence Current Affairs
20 AUG 2022 10 AMTO 1 PM Numerical Ability Part 1
20 AUG 2022 2PMTO5PM Reasoning Part 1

20 AUG 2022 6 PMTO 9 PM General Sciences

22 AUG 2022 10 AMTO 1 PM Numerical Ability Part 2
22 AUG 2022 2PMTO 5 PM Reasoning Part 2

23 AUG 2022 10 AMto 1 PM Numerical Ability Part 3
23 AUG 2022 2PMTOS5PM Reasoning Part 3

= SSBCrack

© CALL US: 080-69185400 | DQWNLOAD SN




®

India’s Most Popular Portal for Defence Exam Preparation

www.sshcrackexams.com

CODE: WARRIOR10

:SSBCrack

get an extra 10% off on all courses

GET ITON Getiton
P’ Google Play H- Windows 10



ACC AFCAT AIRMEN CAPF CDS EXAM
(1) (1) (2) (1) (2)

BEST SELLER

HIGHEST RATED l -

E17 PEOPLE @NLINE NOW 997 PEOPLE @NLINE NOW

EXAMS
INET OFFICER MNS MOCK TEST NDA EXAM PC(sSL)
(1) 1) 131 (1} 1)

BEST SELLER

sty

206 PEOPLE @NLINE NOW 561 PEDOPLE @NLINE NOW

SCO SSB INTERVIEW
(1) (1)

740 FEOPLE @NLINE NOW

TERRITORIAL ARMY

(1)

895 PEOPLE @NLINE NOW

CDS Exam Online CDS OTA Exam Online
Course 2021 - 2022 Course 2021 - 2022
5(80) 5(77)

¥4,999.00 ¥ 4,499.00

HEST SELLER

90 PEOPLE @NLINE NOW 98 PEOFLE @NLINE NOW

AFCAT Exam Online NDA Exam Online
Course 2022 Course 2021 - 2022
51(64) 5(72)

¥4,999.00 ¥4,999.00

BEST SELLER

CDS EXAM

MOCK TEST
SERIES

AFCAT EXAM &
MOCK TEST
SERIES

37 PEOPLE @NLINE NOW

Territorial Army Exam
Online Course 2021 -
2022
5(53)
¥ 4,999.00

BEST SELLER

NDA EXAM -
MOCK TEST
SERIES

18 PEOPLE @NLINE NOW

ACC Exam Online Course
Army Cadet College
2021 -2022

5(53)

¥6,999.00

37 PEOPLE @NLINE NOW

OIR Test and PPDT
Online Course - Officers
Intelligence Rating Test

MNS Military Nursing
Service Exam Online
Course 2022

5(50) 5(44)

¥2,999.00 24,999.00

AFCAT Exam Online
Mock Test Series
5(65) 5(79)

¥299.00

CDS Exam Online Mock
Test Series

¥299.00

GETITON

NDA Exam Online Mack
Test Series
5(72)

2299.00

UPSC CAPF Assistant
Commandant Online
Course 2022

5(48)

¥4,999.00



https://play.google.com/store/apps/details?id=com.ssbcrackexams.learn

